‘\\\\1 Hannay Reels’ 1992

The reel leader. CAM-LOCK
Hannay Reels, Inc. Phone 1-518-797-3791
553 State Route 143, Westerlo, NY 12193 Toll Free 1-877-GO-REELS (467-3357) BRAKE ASSEMBLY
www.hannay.com Fax 1-800-REELING (733-5464)
Email: reels@hannay.com Int'l Fax 1-518-797-3259

Hannay ISO Parts Lists are available at www.hannay.com H-1513-PRev 3 6-22



PARTS LIST
ISO 254
Cam-Lock Brake Assembly

When Ordering Parts
BE SURE TO SPECIFY COMPLETE MODEL NUMBER and SERIAL NUMBER OF REEL

USE PART NUMBER!

Item No. Description Part No. Qty

- Cam Lever Drag Brake Kit (fOr 1/2" HUDS) ......uoiiiiieiie et 9947.0130 1

- Cam Lever Drag Brake Kit (fOr 1" HUDS) ......oouiiiiii e 9947.0140 1

- Cam Lever Drag Brake Kit w/ 304 Stainless Steel Mounting Hardware (for 1/2" Hubs) ..................... 9947.0129 1

- Cam Lever Drag Brake Kit w/ 304 Stainless Steel Mounting Hardware (for 1" Hubs) ...........ccccceeene. 9947.0139 1
02 Self Aligning Bearing Complete (see ISO-210 fOr PartsS) .........ccuveiieieiriiiiiiiie e Specify Model 1
03A  Cam Drag Brake (Hub Piece, only) (for 1/2" HUDS) ........couiiiiieiee e 9947.0131 1
03A  Cam Drag Brake (Hub Piece, only) (for 1" Hubs) (N0t ShOWN) ........ccoiiiiiiiiiiiii 9947.0141 1
03B €A LOCK LEVET ...ttt bttt ettt ettt et ae e 9947.0132 1
03C  Brass BarTel NUL ........uiiiiiie ittt et s et e et e et e e e s e e e aabeeeas 9947.0133 1
25A  5/16"-18 x 1-3/4" Bolt W/ NYIOK PAICh ......coiuiiiiiiiiiiiii e 9947.0134 1
25A  5/16"-18 x 1-3/4" 304 Stainless Steel BOlt.........ccuiiiiiiiiiiee et 9947.0137 1
25B  5/16"-18 x 2-1/4" Hex Head Bolt (fOr 1" HUDS) .......ooiiiiiiiiie e 9904.1107 1
25B  5/16"-18 x 2-1/4" 304 Stainless Steel Bolt (for 1" HUDS) ......ooouiiiiiiiiie e 9947.0138 1
25C  3/8"-16 x 2" Carriage Bolt (replaces one Self Aligning Bearing Carriage Bolt)............ccccceviieeniinennes 9904.0206 1
25C  3/8"-16 x 2" Stainless Steel Carriage Bolt (replaces one Self Aligning Bearing Carriage Bolt)........... 9960.0097 1
27 3/8"-16 Stainless Steel Thin Nylon LOCK NUL........c.coiiiiiieie e 9960.0099 1
28 5/16" Flat Washer (fOr 1" HUDS) ........oiiiiiiii ettt 9954.0006 1
28 5/16" Stainless Steel Flat Washer (for 1" HUDS) .......ooiiiriie e 9960.0094 1

H-1513-P Rev 3 6-22



